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"PART ONE - ESSAY QUESTIONS X2 ]

uestion 1 (12 points
On January 2, 2013 Carolina Clothing issued 100,000 new ‘shares of its $5 par value common

stock valued at $19 a share for all of Dakota Dressing Compa{ly s outstanding com uﬁ%?shargs Ain
an acquisition. C arolina paid $15,000 for registering and'i xssumg “securities and $10,000 for legal
and appraisal costs of the business contbination. The fair Value and book value of Dakota's
identifiable assets and liabilities were the same. Assume Dakota Company is dissolved on the
date of the acquisition. Summarized balance sheet information for both companies just before the '
acquisition on January 2, 2013 is as follows:

Cas

Carolina Dakota o\ Om
Cash $150,000  $120,000 3"“’é 1
Inventories 320,000 400,000 C S
Other current assets 500,000 500,000 h:l A
Land 350,000 250,000 ;
Plant assets-net 4.000.000 1.500.000
Total Assets $5.320,000  $2.770.000
Accounts payable $1,000.000  $300,000 o 0° c
Notes payable 1,300,000 660000 \B
Capital stock, $5 par 2,000,000 500,000 x
Additional paid-in capital 1.000,000 100, 000"
Retained Earnings 20.000 _1.210.000% ﬁgggT:”
Total Liabilities & Equities $5.320,000  $2,770,000 e S

\ 2 Required

Complete the below balance sheet for Carolina Clothing immediately after the business
combination.

Carolina Clothing

Balance Sheet
January 2, 2013
it 300 O
Assets: '2."1 H®eO Liabilities: \"3
Cash § pEeEEG Accounts payable § 4 o ==c==c g
Inventory RO =0 Notes payable 19 £ &
Oﬂam' current assets __\_(xp_(g@__ Total liabilities N Ao W='=1D)
Equity:
Common stock ($5 par) 9 SCS S

;Addlﬂ@nal paxdnm capital _%%.3.‘5 o0




uestion 2 (11 oin_ts
Pike Corporation paid $100,000

Salmon's stockholders’ equity consis $800,0 $1(
$200,000 retained earnings. On December 3T, 2014, afte:i eceipt of the year's dividends from

Silmon, Pike paid $192,000 for an additional 20% inter‘esl(in Salmon Corp. Both of Pike's
investments were made when Salmon's book values equaled rtheir fair values. Salmon's net

income and dividends for Q‘Q_}_ 3 and 2@5 were as follows:

for a 10% interest in Salmon Corp. on January 1, 2013, when
ted of $800,000 of $10_par value common stock and

2013 2014 =tk
Net income $60,000  $140,000 goee -G = ’l(U“fm
Dividends $20,000 $40,000 éo;“g,
Required W0/
a) Prepare the journal entry for Pike Corporation to record the receipt of 2014 dividends. (4 ———
points) o T '
\ 6 Account DR CR
Catw 1060
Tocore oo el | Y Qoo

|
’b;\,.\.d.s Tacore Qom SakwaCof -
b) Prepare the journal entry for Pike Corporation to account for the change from the cost method
to the equity method. (4 points) ® : -
¢ equily

Account DR CR
Sadestoet (n Salmenlotp: [ MG

Lncome Qm%:@(}bf‘ . l"‘lctl‘\C)

¥ 20¢cme) ,

¢) Calculate the balance of Pﬂg@'s@ricitmgain Salmon at December 3’1i 2014. (3 points)
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uestion 3 (10 points |
Passerby International purchased 80% of Standaround Company's outstanding common stock for

$200,000 on January 2, 2014. At that time, the fair value of Standaround's net assets were equal
tothe book values. The balance sheets of Passerby and Standaround at January 2, 2014 are

summarized as follows:

Passerby Standaround

Assets $1,600,000 $470,000
Liabilities - $840,000 $230,000
Capital stock 360,000 50,000
Retained earnings 400,000 190,000 205
Required
Determine the consolidated balances as of January 2, 2014 for the following five balance sheet
line items:
Ttem Balance
{ @ Goodwill 1O cc
Capital Stock 2LO OO
Noncontrolling Interest SO God

Tavedad U0 OO
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Ouestion 4 (7 points
The cansolidated balance sheet of Pasker Corporation and Shishobee Farm, its 80% owned
cubsidiary; as of December 31, 2014, contains the following accounts and balances:

_ Pasker Corporation and Subsidiary Tatspand {90~
Consolidated Balance Sheet '
at December 31, 2014

Balances e
Cash $57,000 ?é;;['_,ww
Accounts receivable-net 210,000 -
[nventories 330,000 == )
Other current assets 255,000 /:-. \I }
Plant assets-net 870,000 k& /
Goodwill from consolidation 117,000 ,ﬁ' 1o
e $1.839,000 E Pt

il
Accounts payable $219,000 - ’fﬂg:_:gw'
Other liabilities 210,000 P e
Capital stock 1,050,000 acp
Retained earnings 240,000 e d
Noncontrolling interest 120,000 I g2\ 60
000 =

Pasker Corporation acquired its interest in Shishobee Farm on January 1, 2014, when Shishobee
Farm had $450,000 of Capital Stock and $210,000 of Retained Earnings. Shishobee Farm's net

s / - . g — = . . .
assets had Tair values equal to their book values when Pasker acquired its interest. No changes
have occurred in the amount of outstanding stock since the date of the business combination.

—

Pasker uses the equity method of accounting for its investment.

Reguired
5 Determine the balances of Pasker's Capital Stock and Retained Earnings accounts at
December 31, 2014. (4 points) = -

Accounts Balance
Capital Stock | (0 0O
Retained Earnings 2MO GO

b) Determine the cost of Pasker's purchase of Shishobee Farm stock on January 1, 2014. 3

ol VA 2oy
shiddoe RV | 4500021000 - (Lo OO0

A4S go;i?x\}\fioog
=\ ooy T Oy
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uestion 5 i :
A cash distribution plan for the Sammi, Tammy, and Udd partnership was as follows:

Creditors Sammi Tammy Udd
First $250,000  100% i
Next $100,000 70% 30%
Next $150,000 11/15 4/15
Remainder 20% 35% 45%

Required
If $850,000 of cash was distributed by the partnership, how much was received respectively by

the creditors, Sammi, Tammy, and Udd?

Party/Partner Amount
Creditors 2. SO0cO
8 Sammi 25@ (4D @9
amm; i oEEe
\A 1S o

Spmmi . OO0 + WOEDD 030
Teomey 20.090 £ \22506

UM Ao S50




SARTTWO - MATCHING & MULTIPLE CHOICE QUESTIONS

r_.-."-'-‘—.—-_—_'r_ i

HING QUESTION (12 points) _ BT
L-M-is’%e%%aow are a number of terms. Match each term with the appropriate description from the
list below, using the item’s code (letter).

—

Terms }
X Special purpose entity (SPE) E. Preselected ratio ‘><I’nstallment liquidation f
| 7 Statutory merger X Statutory i tn | /(Lump—sum liquidation J
. Tender offer K‘Bonus method . KSafe payments to /
l partners
LIZ). Buyout price j{ Partner’s dissociation . Dissolution ’
Descriptions

— |

Liquidation in which cash is periodically distributed to partners during the liquidation process. =T

Are ysually the result of negotiations between the partners. E

Sale of partnership assets, payment of its liabilities, and distribution of any remaining assets to partners.

A

A financing vehicle that is not a substantive operating entity, usually one created for a specified reason.

w| | ] B

Type of business combination in which both combining companies are dissolved and the assets and
liabilities of both companies are transferred to a newly created corporation. \

e [T U]

Ligu-ic-la_tion in whicl} all assets are converted into cash over a short time period, enabling all creditors to
paid, with any remaining cash being distributed according to the partner’s capital balance. 3

7 | An invitation to the shareholders or assets of

be

: s of the other company to exchange their shares for securitic
the Yicquiring company. - - —

]

8 | The estimated amount if (1) the assets were sold for a price equal to the higher of the Tiquidation value of
e vaa h: _e] based on 250 ol Kig entire business as a going concern without the dissociated p:;rtn.er, and (2)
the partnership was wound up at that time with payment of all the partnership’s creditors and termination
of the business.& \> . = 3 tors : rmi

e =

»9 i s 0

i1

o

‘the combining companies survives. l__))

only for the capital amount the new partner invests, )

"J

 that all noncash assets will be sold for nothing. Q

[



\ULTIPLE CHOICE QUESTIONS (10 points)

ich of the following is a reason o usc a partnership as the legal form of a business?
mcrships avoid the issue of mutual agency.
B) Partnerships avoid the issue of unlimited liability.
artnerships avoid the issue of double-taxation faced by corporations.
D) Partnerships avoid the difficulty of raising capital. "X

2) A business merger differs from a business consolidation because

T merger dissolves all but one of the prior entities, but a consolidation dissolves all of the

prior entities and forms a new corporation.

B) a consolidation dissolves all but one of the prior entities, but a merger dissolves all of the

prior entities.

C) a merger is created when two entities join, but a consolidation is created when more than two

entities join.
D) a consolidation is created when two entities join, but a merger is created when more than two
entities join.

3) Following the accounting concept of a business combination, a business combination occurs
when a company acquires an equity interest in another entity and has
A) at least 20% ownership in the entity.
B) more than 50% ownership in the entity.
() 100% ownership in the entity.
~ontrol over the entity, irrespective of the percentage owned.

4¥ Durer Inc. acquired Sea Corporation in a business combination and Sea Corp went out o

existence. Sea Corp developed a patent listed as an asset on Sea Corp's books at the patent office
filing cost. In recording the combination,

A) fair value is not assigned to the patent because the research and development costs have bee™

expensed by Sea Corp.

B) Sea Corp's prior expenses to develop the patent are recorded as an asset by Durer at purchase:(
e patent is recorded as an asset at fair market value. L

;E the patent's market value increases goodwill.

5) Under the provisions of FASB Statement No. 141R, in a business combination, when the fair

value of

iired exceeds the investment cost, which of the following

gnized for the amount that the fair value of the

uisition price.

e proportionately (according to market value) non-
. and any negative remainder is classified as a

sroportionately (according to market value) non-

sified as an extraordinary gain. _

s proportionately (according to market value) non-
live remainder is classified as a deferred credit.



yse the following information to answer questions 6 - 8 b(::[gw,
Bertram and Ernest share profits and losses equally after salary and interest allowances. Bertram
and Emest receive salary allowances of $40,000 and $60,000, respectively, and both partners
receive 10% interest on their averawile%l’b_al_ances. Average capital balances are calculated at
the beginning of each month, regardless of when additional capital contributions or permanent
withdrawals are made subsequently within the month. Partners' drawings of $3,000 per month
are not used in determining the average capital balances. Total net income for 2014 is w

/
Bertram Ernest
January 1 capital balances $200.000 '-5;-2 $240,000. -~ H\;{’
Yearly drawings ($3,000 a month) (36,000) (36,000) x
Pgrmanent withdrawals of capital:
June 3 (24,000) VH =04
May 2 (30,0000 210 « 2
Additional investments of capital: ?—"”i“:é
July 3 80,000 25¢ = O &3
October 2 @ 100,000 5 \2
6) What is the weighted-average capital for Bertram and Ernest in 20149 226
$224000 and $245,000
) $203,333 and $221,167
C) $221,333 and $239,167

D) $256,000 and $220,000

7) If the average capital for Bertram and Ernest from the above information is $224,000 and
$238.000, respectively, what will be the total amount of profit allocated to salary and interest

distributions? \OD 1S ) -
A)S 93.800 ~» 2400
k146,200 e
C) $218.200 2% %
D) $240.000

8) If the average capital balances for Bertram and Ernest are $200,000 and $240,000, what will

the total partnership profit allocations be for Bertram and Ernest in 20149
! ' 140,000 (Celelele)
_ 132,000 ki%m:) —— 720 o J U4 e e{ b OO
$120,000 and $120,000 — 2 o™
Y Loou

1o answer questions 9 & 10 below.
artnership of Quincy, Robert, and Sam. The partnership
ip capital’should be revalued based on the excess
of the assets listed below equals fair values.) A
Re and Sam partnership appears below. Quincy,
-aratio of 1:1:3, respectively.

—



Assets

Cash $ 150,000

Marketable securities 76,000

[nventory 164,000

Land 300,000

Building-net 510,000

Total assets $1.200,000

Equities g “ %ﬁfj@(ﬁ)

Quincy, capital 320,000 A

Robert, capital 280,000 ~

Sam, capital 600.000

Total equities $1.200,000 @ as YOO
9) What goodwill will be recorded? 4)\60()

A) $ 80,000 A

B) $240,000 So=e UOD ==

). $320,000 @ QQOED
)))$40 _.,-000 "R %omg
10) What partnership capital will Robert have after Quincy retires? ‘S 24006
A) $200,000

) $280,000

360,000 q

$440,000 o~

(e




